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Candidate muw@ iret his / her Roll N
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o. on the question paper compulsorily

() mﬁmmaﬁaﬁ%l

All the questions are compulsory.

- (3) gﬁmmwwm%m—g%mﬁﬁﬁa@ |

Write the answer 0 cach question in the given answer-book only

4) ﬁqmﬁﬁmﬁﬁﬁm%,ﬂwﬁ%mwm-@%@ ,
For questions having more than one part, the answers to those
together n continuity. parts are to be written
St %ﬁamwﬁ%@mﬁzﬁ/w/ﬁwﬁ
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difference / contradiction in Hing;
i

on of Hindi version should be treate & English versions of the

d valid,

If there is any error / °
e qucstl

question paper,
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Write down the serial number of the qﬁ'éstion before attempting it.

IS ShHTh 17%233351341’3%%3@%1

Q. Nos. 17 to 23 each have 1 internal choice.

gug — A
SECTION — A

F=feraa wet & ser St .

Give the answer of the following questions :

)

5S-2

(ii)

(iii)

(iv)

Tifeisft 3 wereRfer Sregee sl 3 forg 1 A w16 R e ¢
(31) afm (¥) dfe

(@) gl (7) firfiem

Which word was used by Gandhiji for so-called untouchable castes 9
(A) Harijan (B) D?ll-lt
(C) Scheduled . & ' (D) Giridhan

= d e afe 6 v agie

(31) wnfa w1 & Rl 2 | (=) m%ﬁiﬂajﬁézﬁﬁﬁaa%%l
() e 3 fore Sefld & 8 1 (2). Sfoed ﬁmwm:@fam%l
Which of the following is not a characteristic of Caste ?

(A) Caste is détermined by birth.

(B) Caste infolves rules about food restrictions,

© Castggﬁivbives rules about marriage restrictions.
(D) Thgfe 1 no subdivision in castes,

e S e < oo g 7
(31) 1901 (a),
(&) 1951 (2)

When did tea industry begin in India ? - |
(A) 1901 (B) 1801

(C) 1951 (D) 185]

I HITAH TN o Taiey

(37) TTEfoa Sy (%) rggfm iy
(@) I et (R) T 1
K aka Kalelkar Commjssion is related to

Scheduled Tribe (B) Sch
(A) Cheduled Cagte
©) Other Backwarg Classes (D) None of these

1801
1851
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(v) T er e 3 et -sve a1 o o 7

(31) fEm . (@) @t feeE
(®) ff snfa (2) TS UHHIEA T
Which social reformer protested the Sati-Pratha’ ? 1
(A) Periyar (B) Swami Vivekanand
(C) Sri Aurobindo - (D) Raja Rammohan Roy
(vi) “geaH € gEash foeen foredt ¢
(31) s w&HA ’ (8) AR
| (@) wERda I (c) afesaré
| Who wrote ‘Sultanaz Dream’ book ? | 1
(A) Begam Rokeya (B) Tara Bai
(C) Mahashweta Devi (D) Savitri Bai
(vii) TTVRI-2011 3 FTER, ¥ 1 Het e fhefl 2 2
(31) 121 %S (@) 1013

(®) 11150 (@ 131@% |
ﬁ@ 011 ? :

(A) 121 Crores
(C) 111 Crores

(viii) =1 3 & wariferes @fi- FAT TSI DA TR 7 ?
(31) g (F) *@
(H) gais | ‘ (x) udea ot
Which of the following states has the highest sex-ratio ? .
(A) Haryana (B) Kerala |
(C) Punjab (D) All of above
(ix) A e 3 fop g ¥ TEReRTr &1 At o AT R ?
(37) 1980 (&) 1990
| (®) 2010 (]) 2020
From which decade has India adopted tge pc;];;g of ‘Liberalisation’ ? i
(A) 1980 (B)
(C) 2010 (D) 2020
x) gﬁm%aﬁﬁw@?%mﬁmmmmm% ?
© (37) ISR () pUSEiHT
AL P d b brml(glzt clo twﬁ h
iag Of an be ser to
The countries otf-:,l:le world ¢ 5 Globa]ig:;:onmher by !
) _—
gé)) ;J;?:irgﬁsl;feﬂ Investment (D) All of above
[ Turn o\fer
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(@) T @ YeEw
&) = () ‘ A §d | 3
‘Which of these social reformers founded Satya'l Shodhak Samaj’ 9
(A) Vidhyasagar (B) Periyar 4
(C) Narayan Gurn - (D) Jyotiba Phy]e y
(xi) i1 Ut T A 3fees e mwmmwﬁﬁ, BRI
(3) géesdm ey ) ‘ﬂ RIS
(|) eSS Sl ) et s |
Companies that produce their £00ds in more than on
(A) Cottage Industry B ¢ country, are called

l'ansnatlon al C
(C) Public Companyh Orporation

D) Private Company
2. Treforfaa st & feart ot <) off ehifye
Fill in the blanks in the fol]owmg questions :

(i) TEITEE_ mi}gﬂmm]

The author of the book “‘Unquiet W ) ‘7
(iii) sl weamE ﬁﬁﬁ@émm < |

Bardoli Satyagrah was a non-tax campaign i ; | ;
(lv) m i;I!IE'\‘I Wsﬁwm% Qﬁ'_‘“\\ 1Stl‘lct

Samvad-Kaumudi wafa magazine Published i,

|
(V) HUSE R & Gy Rﬁﬂ'ﬁﬁ] —— T lailgUage.
The mixing of g]obal ‘with the local s call ed |
(vi) Qﬁﬁﬁﬁ%’@ﬁm(m)ﬁﬁm% B T
Pandit Nehru asked media to play the role o0 Kl ﬁmﬁ % | {
\“‘\- fdel‘ﬂoc
e -g
‘ SECTION _
3. frefeiEd 99 % S dfve .
Give the answer of followmg questions :
f' (i) Q@Wﬁg?';ﬁ m%é@mﬁq%? ' <
| Who is the author of hogj ¢ ‘Essay on ulagin s, _
iy S T g on | 1
What is the dependent section of Populatioy, o g
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(iii) ERABTT FT ST ferti & 7
Who gave the concept of ‘Sanskritization’ ?

(iv) mﬁan@%mﬁﬁmﬁﬁm%@ﬁ ?

Who started night schools for farmers and labourers ? ' 1
(v) G Sl s w i fafe |
“Write any one feature of Social Stratification. ' ' e |
(vi) ‘are g’ 1 g9 HA T U Hhd § ? IS T Hiferh Igrewr fafa |
How can we help differently abled ? Write any one basic example. 1
(vii) ‘Tepdier ST wfFeHinTT 1 whré T i feafee |
Write any one difference between Sanskritization and Westernization ? ' 1

(viii) W'mmmw%?

- What is the general intent of ‘Sanskritization” ? 1
(ix) ‘regeEar 1 F F H1E T 37 |
Write any one remedy for eradication of Untouchability. _ 1
(x)  THGHUT S5 RIS 1 i T ST [ | |
Write any one example of negative «; gf1 'tbanisation. 1
1
1
SECTION -C
e <6t <hig @) fdwad o |
Write any two characteristics of Caste. 1+1=2
@R RE ?
What is Prejudice ? )
e 6 ST & T A €
What do you understand by the age-structure of population ? 5
YU 3 IS & o fafe |
Write any two benefits of ‘Globalisation’. 1+1=2
sireiieor <6 s o) frward forfe | -
Write any two characteristics of Industrialisation. . 141 =2
s aver
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9. ufikwwne ruSudfARaT- - . o
- What is Westernisation ? Write in brief, i 2
10. T AvESeTehd ST % HiE o @ R |
- Write any two features of a globalised economy. 2
11, GURETT SIGrer 68 ed § 7 31 ) W o wmwme | >
What is the reformist movement ? Explain briefly in your own words. 2
12. wifema e wnem & 7 $ QA sermw ke | _
What are the benefits of Media ? Give any two examples as per your own understanding
1+1=2
13, TSS9 € ? e W HE |
What is Glocalisation ? Explain briefly. 5
14 SiEfir T 5 1 e S 1 2 e frfa
- Write any two examples of working-condition in Industrig] Society 3 |
. i - , . 1+ 1=
15. aﬁm\ﬁw@?ﬁmgmﬁ%‘g'ﬁ?ﬁﬁmﬂy@i@mr ' |
Write any two basic suggestions to improve '—Jjé\ondition's: ,6‘f e
. IR~ Ty e, 1412 |
16. MHSTIHIT & % & gINTT T &S] 3 WIRg | \
Write any two negative effects of Globalisation in your OWn words |
(?—J ' 1+1=2 \

LS T=-g
:¢ ° SECTION-p

17. S R 7 S e e %ﬁfﬁﬁmﬁﬁm% |
What is Untouchability ? Discuss the efforts made to er | !
3UET/OR

TSR ST T R ? e fafbiet et <) saren S|

What is Social-Exclusion ? Explain its different forms,

adic i
ate caste~dxscrimination 1+2=3

13 mﬁaﬂﬁw%maﬁm%%ﬁ%mmw |
Explain the effects of Industrialisation in India on the basis of :
Y=/ OR YOUE OWn igeqs. |
ng?mwﬁwmﬁﬁmm%wﬁ |
ke I Urbanisation ? Discuss the Urbanisation in independen; Ind; |
1a i

n |
_ YOur own words. .
 79-S0ciolog!
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19, SRR T 8 7 WA TS T s 3 T oht fererer i |
" What is Modernisation ? Discuss the effects of Modernisation on Indian Society. 1+2=3
e F¥a1/OR _
e w8 ? STTCe e T T TTRHIRT 35 YwTe <t ST I |

What is Westernisation ? Explain the effects of Westernisation on Indian Society.

20. fa seRa Sreer 3 T wE T o e e R |

ive social effect of caste based movements in your own words. 3
319a1/OR | :

qﬁ@%@ﬂaﬁaﬁ%wﬁwﬁﬁwﬁﬁm%s@ﬁmﬁm 1

ical movements in your own words.

Discuss the posit

Explain the environmental impacts of ecolog

s -4

SECTION-E s
o

21, e e i Ry P T @fﬁ | |
Discuss the literacy status in India. %ﬁﬁ@ } , H
K . S ?Wmmmwaﬁmﬁamﬁﬁmw@%?

What is population dividend ? Does the changing age structure offer a demographic
dividend for India ? |

RT3l 1 ST HIT |

n its general characteristics. 1+3=4

Wﬁ@mﬁ%ﬁmﬁm;

discuss the role of Social reformers

22. SAfer 1 31ef EHE gC gl AT

Elucidate the meaning of Caste and mentio
a1/ OR

mﬁaﬂmﬁqwm@ﬁﬁﬁm GHTS
lluminate the contemporary form of Caste and
related to it.

Sa—" L L U
Discuss the role of Mass-Media in Social Change and Social Reform. 4
aerai/OR

wﬁmmﬁmﬂ%mﬁ@ﬂ“ﬁmwm‘

Write short note on the role of Print Media in Social Change in India.
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